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Choose the correct answer from a, b, cor d:

) Have you got that game called ..........co...... one out?
a) pull b) push
c) add d) odd
(2 1 [ J— is to give food to a person or animal.
a) eat b) lift
c) feed d) drink
€) Mohammed Salah, the famous sports person, is .......cco...... for his kindness.
a) opened b) known
c) closed d) spent
(4 R (o TU [ arrive at school on time.
a) can't b) would
c) must d) mustn't
© Hamdi .oceereee. drink coffee for breakfast.
a) don't b) doesn't
c) hasn't d) isn't
(® My aunt Dalia is the person ........cc....... is always very kind to me.
a) when b) what
c) which d) who
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@ Mathematics

Choose the correct answer:

@27250=

a)103/§

1033
em_i/_: ...................

a) V2

c)23\/§
e(ﬁ+2)(¢§_z)= ...................

a)l

6 The point of concurrence of the medians of a triangle divides each median with

the ratio - S e from the vertex.
a)2:3

c1:3

b) 43/5
d)10+/2

b) 732
d) 832

0 If the measure of the base angle in an isosceles triangle equals 65°, then the measure of the

o

vertex angle = .
a) 50
c) 65

0 The number of the medians of a triangle is -
a) 2

c3

b) 125

d) 115

b) 4

d) 1

8 If the measure of the base angle in an isosceles triangle equals 60°, then the type of the triangle

according to its angles is - .
a) obtuse

¢) equilateral

b) acute

d) right
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Choose the correct answer:

o The number of elements in Mendeleev’s periodic tableiis .................... elements.
a.92 b.116
c.76 d. 67

9 The scientist who discovered that the nucleus of the atom contains positively charged

protonsis ...............c....
a. Bohr b. Mendeleev
¢. Rutherford d. Moseley
9 The transition elements start to appear from the beginning of the .................... period.
a.second b. third
c. fourth d. fifth

o By increasing the atomic number within groups, the atomic size ....................

a.does not change b. increases
c. decreases d. no correct answer
e The metallic property .................... gradually in the groups from the top to the bottom.
a. does not change b. increases
c. decreases d. no correct answer

o The solution of magnesium oxide in water turns the violet litmus solution ....................
a.red b. blue

c. black d. white
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Choose the correct answer from a, b, cor d:

€ You can watch a sports match at a ... .

a)lab b) library
¢) museum d) stadium
@) A/An ., can be an entrance to another place.
a) arch b) wall
) ruin d) castle
A, helps people or animals that need help.
a) sports coach b) charity worker
) scientist d) police officer
@) My mother doesn't ........ooeccceeenn. go to work today because it is a holiday.
a) have to b) have
c) has to d) has
© Magdy Yacoub was born ................. 1935.
a)on b) for
c)in d) ago
O Cars e, drive on this road, so we can walk on it safely.
a) haven't b) aren’t
c) didn't d) mustn’t
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@ Mathematics
C

hoose the correct answer:

0|f5x+3:2x—9,thenx: ...................

a)]-,5] b)15, [
Ql-»,5] d)]-5,00]
e The slope of the line that passes through the two points A (1, 3), B (3, 4) is -
b) 5
d)3
0 The slope of the line that passes through the two points A (a, 3), B (1,4) is -1, then a= -
a)2 b) %
c) -2 d) -1
e In triangle ABC, if AB=3cm,BC=5cm,then ACE .
a)]5,8[ b) 12,8]
Al1,5][ d)13,5[
0 In A ABC, if m (£ A) =m (£ B) + m (£ C), then the longest side in length is - .
a) AB b) BC
Q) AC d) none of these
0 In isosceles triangle ABC, If AB=3 cm,BC=6 cm, then AC= -
a)5 b) 6
8 d)3

6 Inisosceles AABC,ifm (£ A):m (£ B):m (£ C)=2:1:1,then the longest side in length

[ —
a) AB b) AC
Q) BC d) none of these
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Choose the correct answer:

o Elements of group (1A) are known as ....................
a. halogens b. alkali metals
C.inert gases d. alkaline earth metals
9 The most active (strongest) metals liein group ....................
a.7A b.18
c. 1A d.2A
e Halogens are named by this name because they react with metals forming ....................
a. solids b. salts
c.acids d. bases

O In water molecule, the angle between two single bondsiis ...................

a. 60’ b. 105°
c.104.5° d. 145.5°
e Theice crystal hasa/an ................... shape.
a. octagonal b. quadrilateral
C. pentagonal d. hexagonal
@ .................... is located between stratosphere and mesosphere.
a. Tropopause b. Stratopause
¢. Mesopause d. Thermopause
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Choose the correct answer from a, b, cor d:

€ Halais @ .ceeerrerreeenne person. She doesn’t put anything in its right place.
a) tidy b) messy
c) lucky d) full
@ Munir has to wash ..., after dinner on Mondays and Wednesdays.
a)on b) at
c)in d)up
© Adam ... the rubbish when the bins are full.
a) takes out b) puts away
c) looks after d) washes up
@) The books ........ccces... | bought were very useful.
a) what b) that
c) who d) where
© The football players are not playing as ................... as they did last week.
a) good b) well
c) better d) best
(D Alexandria is the city ......coccveunee.. both my big sisters are studying.
a) that b) which
c) when d) where
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@ Mathematics
C

hoose the correct answer:

0 If the mode of the values 3,4a,5,7is 7, thena= -
a)3 b) 4
Q)5 d)7

9 The median of the values: 5,7,4,2,3,9is -

a) 4 b) 5.5
Q5 d) 4.5

e The mean of the values: 2,7,5,4, 7 is -

a)9 b) 5
Q7 d) 6

0 If the mode of the values: 5, x+ 1,2,9is 5, then x = -

a)5 b) 6
03 d)4
e The sum of lengths of any two sides of a triangle ... the length of the third side.
a) > b) <
Q) > d) =

0 The interval in which the third side of the following triangle belongs to 6 cm, 9 cm, x m is -
a)le, 9l b) [3,15]
0 13,15[ d)[6,9]
0 The longest side in the triangle whose angles has theratioof A:B:C=1:2:3is -
a) AB b) BC
c) AC d) cannot determine

6 The greatest angle in the triangle whose sides lengths has the ratio of
AB:BC:AC=1:2:11S -

a)A b) B

c)C d) cannot determine
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Choose the correct answer:

o The measuring unit of atmospheric pressureiis ....................
a. bar b. millimeter
c. millibar d. bar and millibar
9 The temperature at the top of mesosphere layer reaches ...................
a.76°C b.-90°C
c.60°C d. 1200°C
e Ozone layer is measured ina unitcalled ...................
a. km b. Dobson
c. UV d. mm?

O All the following causes erosion of ozone layer except ....................

a. freon b. aerosol
C. nitrogen oxides d. iron oxides
e ... fossils were found buried in snow completely.
a. Ferns b. Insects
¢. Nummulites d. Mammoth
6 .................... is (are) of the most important causes of the recent extinction age.
a.Volcanic eruption b. Falling of icebergs
c. Falling of meteorite d. Overhunting and environmental pollution
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Choose the correct answer from a, b, cor d:

€D Yasser was ... a school project on someone in his family.
a) doing b) making
¢) spending d) leaving
@) Women wear ... around their necks.
a) masks b) watches
c) necklaces d) rings
@ Iwantto learn ..., language.
a) wave b) sight
c) signal d) sign
@) My teacher always ........ccoo..... Gem Book to use.
a) recommending b) recommends
¢) recommended d) is recommend
O 1 didnt e, know much about my family history.
a) use to b) use
c) used to d) used
(6 1/ CJ— wash our hands before we eat.
a) mustn't b) didn't
c) should d) will
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@ Mathematics
C

hoose the correct answer:

0 If (K, 2K) satisfies the equation X +Y =15,then K = i
a)5 b)12
c) 15 d)3

9 The arithmetic mean of the values: 5,12 ,17 ,6 is -

a) 1 b) undefined
<) -1 d) zero
O)157[U{57}=
a)l57( b)15,71
ol57] d)[5 7]
e ABC is a right-angled triangle at B, D is the midpoint of AC,BD =5 cm, then AC = - cm.
a)5 b) 10
15 d)2.5

0 The number of medians of the right-angled triangle is -

a)3 b) 1
o0 d) 2
0 The equilateral triangle has - axis of symmetry
a)3 b) 2
Q)1 d) o

6 If the measure of the vertex angle of an isosceles triangle is 50°, then the measure of one of

the base angles is -
a) 900 b) 650

c) 130° d) 50°
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Choose the correct answer:

o Elements are arranged in Mendeleev’s periodic table in ascending order according to

a. atomic weight b. atomic number
¢. chemical activity d. valency

[ 2 T is the most metallic element in group (1A).
a.Na b. Li
c.Cs d.B

9 Elements of group (17) are known as ....................
a.inert gases b. alkali metals
c. halogens d. alkaline earth metal

o In water molecule, one oxygen (O) atom combines with two hydrogen (H) atoms by two

.................... bonds

a. ionic b. hydrogen

. covalent d. b and c are correct
e .................... are used for measuring the atmospheric pressure.

a. Thermometers b. Galvanometers

c. Barometers d. Voltameters
@ .................... fossils are found in EI-Mokattam Mountain.

a. Ferns b. Index

¢. Nummulites d. Dinosaurs’ bones
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Choose the correct answer from a, b, cor d:

€ Let’s hope the Egyptian team can win .................. again!
a) competitions b) teams
c) goals d) players
@ 'm not usually very interested ..........ccoo..... history.
a) at b) with
c)in d) players
) He helped her to .....cveeeenne. her maths exam.
a) fail b) pass
c) succeed d) bath
@) Tanta is ceeeerreeneeens for its delicious sweets.
a) know b) knows
c) knew d) known
© That’s my sister. She is smiling .......ccooeecvevees at the camera.
a) happily b) a happy
c) happy d) more happy
(O While I ... my lunch, Amr phoned me.
a) had b) was having
c) have d) were having
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@ Mathematics

Choose the correct answer:

0 The slope of AB where A (=1, 3), B (=3, 1) is -
a) 1 b) -2
o) -1 d) 2

e If the slope of a straight line which passes through the two points (1, 3),(3,k) is 3,
then the value of K i e

a) 1 b) 3
c) 10 do

9 If (2, -5) satisfies the equation 3X-Y +C=0,thenC= -

a)5 b) -11
c)6 d)11
0 If the arithmetic mean of the marks of five pupils is 30, then the sum of their marks equals
................... marks
a) 300 b) 35
c) 25 d) 150

@ In AXYZ XY =XZ,m (£ X) = 100°, then m (£ Y) = -
a) 100° b) 45°
c) 80° d) 40°

@ The point of concurrence of medians of the triangle divides each median with the ratio
----------------- ¢ from the base.

a)2:1 b)1:2
2:3 d1:3
0 If the lengths of the two sides in an isosceles triangle are 4 cm, 8 cm, then the length
of the third side is - cm.
a)5 b) 4
10 d)8

0 If the measure of one of the base angles of an isosceles triangle is 60°, then the measure of
the vertex angle is -

a) 90° b) 80°
c) 60° d) 50°
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Choose the correct answer:

o The scientist who left vacancies in his table to be filled with suitable discovered elements

in the futureis ..........c.........

a. Moseley b. Rutherford
c. Bohr d. Mendeleev
9 Potassium reacts ................... with water.
a. instantly b. very slowly
c. after two hoursd. d. no correct answer

9 The chemical activity of alkali metals increases as the atomic size
a.increases b. decreases
C.is very small d. no correct answer

o All the following dissolve in water except ............c.......

a.sugar b. table salt
c. oil d. (a) and (b)
e The airmoves .................... in the stratosphere layer.
a. horizontally b. vertically
c.inclined d. no correct answer

G An intermediate link between reptiles and birds is ....................
a. nummulites b. trilobites

c. archaeopteryx d. foraminifera
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Choose the correct answer from a, b, cor d:

) Magdy Yacoub stopped most of his work as a .........cce..... a long time ago.
a) coach b) surgeon
c) junior d) senior

@) We pray in the .....cooccceueeee. :

a) museum b) mosque
c) castle d) arch
3 1V (o T random acts of kindness.
a) does b) doing
c)do d) is doing
) The Ancient Egyptians used ..........ccoo.... and bowls for making food.
a) bins b) pots
c) tabs d) lambs
O They .. the first team from Africa to win it.
a) were b) did
c) was d) does
Ol my bag on the floor while | was taking a photo.
a) putting b) put
c) was putting d) am putting
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@ Mathematics
C

hoose the correct answer:

0 A square is of area = 32 cm?. The length of its diagonal = - cm.
a)>5 b) 8
Q)7 d)16

e If the order of the median of a set of values is the fourth, then the number of these values is

a)> b) 4
Q7 d)9
9 If the median of the set of valuesk + 1,k + 2,k + 5,k + 4, k + 3 where kiis (positive number)
is13,thenk =
a) 12 b) 13
c) 10 d) 14

0 The slope of the line that passes through the two points A (1, 3), B (3, 4)

1 |
Q)2 d)3
6 The point of concurrence of medians divides each median with the ratio - — from
the vertex.
a)1:2 b)1:3
c2:1 d2:3
0 If the lengths of the two sides in an isosceles triangle are 3 cm and 7 cm, then the length of the
third side is - cm.
a) 3 b) 4
Q7 d) 10

@ In A ABC, if AB =3 cm, BC = 5 cm, then AC € - ,
a) 15,8[ b)12,8[
o) 11,5[ d) 13,5[

0 In AABC, if m (£ A) =m (£ B) + m (£ C), then the longest side in length is - .
a) AB b) BC

c) AC d) none of the previous
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Choose the correct answer:

o The modern periodic table consists of .................... horizontal periods.
a.7 b.10
c. 14 d.18
9 .................... is the measuring unit of the atomic radius of an atom.
a. Minute b. Gram
c. Picometer d. Second
e Most of alkali metals have .................... density.
a. high b. low
c. the same d. no correct answer

O The density of pure water in a solid state is ....................
a. less than its density in a liquid state
b. equal to its density in a gaseous state
c. greater than its density in a liquid state

d. greater than its density in a gaseous state

e Troposphere contains .................... of atmospheric water vapor.
a.90% b. 99%
C. 9% d. 75%

0 .................... is formed when mud fills shell cavity and solidifies.
a. Petrified wood b. Mold
c. Cast d.Trace
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Choose the correct answer from a, b, cor d:

€ In handball, they ......ccoovvcecrrmenceenes by throwing the ball into a goal.
a) succeed b) pass
c) score d) cross
@) The ruins at the Karnak Temple were ......coceeernee. and we really enjoyed
our visit!
a) terrible b) amazing
c) boring d) ugly
€ What time do YOU ....coeveeerrenreeeensnn. your homework after school?
a) does b) did
c) doing d) do
@ In 2018, people ... about 11 billion tons of rubbish around the world.
a) spent b) infected
c) produced d) introduced
(5 oYU S run in the classroom.
a) must b) mustn’t
c) don't have to d) can
Ol get up late. | go to work on time all the time.
a) never b) always
c) hardly d) sometimes
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Choose the correct answer:

0 If (3, 1) satisfies the equationY -3 X =a,thena=
a) -8 b) 3
o0 d)-9

9 The slope of the straight line which is parallel to X-axis is -
a) -1 b) undefined
a1 d) 0

e If the upper limit of a set is 14 and its center is 10, then its lower limitis ...
a)10 b) 18
)6 d) 4

@ The arithmetic mean of the values: 5,12,17 6,10 is ...
a) 40 b) 12
¢ 10 d) 8

e If the measure of one of the base angles of an isosceles triangle is 50°, then the measure of

the vertex angle is - .

a) 90° b) 80°

c)130° d) 50°
0 The isosceles triangle has - axis of symmetry.

a)3 b) 2

o1 d)o

ﬂ The measure of the exterior angle of an equilateral triangle is -
a) 240° b) 120°
¢) 50° d) 60°

6 If the measure of the vertex angle of an isosceles triangle is 90°, then the measure of one of

the base angles is -

a) 90° b) 65°
€)45° d) 50°
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Choose the correct answer:

o The elements which occupy the middle in the modern periodic table are called

.................... elements.

a. transition b. alkali

c. alkaline earth d. noble
9 The polarity of wateris ................... that of ammonia.

a. more than b. less than

c.equal to d. no correct answer
®© ... is considered from halogens.

a. Sodium b. Chlorine

c. Helium d. Calcium

o All the following are from properties of water except ....................
a. it has a neutral effect on litmus papers
b. it is a polar compound
c. its volume increases by freezing

d. it decomposes by heat into its elements

9 The temperature decreases witharateof .................... at 2 km above sea level.
a.5.6 b. 6.5
c.13 d. 26
o ... is/are an example of microfossils.
a. Mammoth b. Ferns
c. Foraminifera d. Archaeopteryx
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Choose the correct answer from a, b, cor d:

Q... means happening without a plan.
a) Random b) Freedom
c) Kindness d) Sorrow

@) Doctors help people to Stop ......cwweeeennn. .

a) infections b) infect
c) infected d) infects
) Drier weather is .....occcceueeee. the ice on top of the mountains.
a) sinking b) trying
c) leaving d) melting
@) Are you taller ..., your brother?
a) then b) than
c) that d) this
© I saw an accident while | .........co....... to school.
a) was walking b) walked
c) am walking d) walk

( Sheis laughing .......ccoouvuvueen. :
a) loudly b) loud

c) louder d) loudest
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Choose the correct answer:

o If (3, a) satisfies the equationY -2 X=4,thena= -
a) 6 b)
c) 10 d) 4

9 The ordered pair that satisfies the relation: x + 2y = 3 is -
a) (0,3) b) (1,2)
(2,2 d)(1,1

9 The median of thevalues:3,7,2,9,5and 11 s -

a) 8 b) 6
7 d)5

0 The multiplicative inverse of# [[—
a)) *% b)%E
0-3v2 d)3¢2

e The measure of each angle in the equilateral triangle equals - °
a) 180 b) 120
c) 60 d) 30

0 Which of the following numbers represent possible sides lengths of a triangle? ...
a)5,8,13 b)5,7,12
€)12,8,4 d) 15,10, 8

ﬂ The point of concurrence of medians of the triangle divides each median with the

ratio L from the base.
a)2:1 b)1:2
2:3 d1:3

0 If the measure of one of the base angles of an isosceles triangle is 50°, then the measure of the

vertex angle [
a) 900 b) 800

c) 130° d) 50°
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Choose the correct answer:

o In the modern periodic table, the elements which are identical in properties lie in the

SAME ..ooeviiiiiin,
a. period b. group
c¢. nucleus d. energy level

9 Each period in the modern periodic table starts witha/an ....................
a. metal b. metalloid
c. non-metal d. inert gas
9 Alkali metals are kept under the surface of ....................
a. water b. kerosene
c. paraffin oil d. (b) and (c¢)
o The effect of pure water on litmus paperis..................
a. basic b. neutral
¢. acidic d. alkaline

e All the following are greenhouse gases except ....................

a. oxygen b. nitrogen oxides
c. chlorofluorocarbon d. carbon dioxide
G .................... are from the famous extinct animals in old times.
a. Dodo bird and mammoth b. Dinosaurs and quagga
¢. Dinosaurs and mammoth d. Gray bear and panda bear
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Choose the correct answer from a, b, cor d:

(1 1V (o J new friends because this makes teenagers happy.
a) leave b) take
c) make d) do
@) They have a big, .....ccooumrenees home with a large garden.
a) bad b) attractive
c) ugly d) terrible
€) Dr.Yacoub helped many people .......ccceueenn. heart problems.
a) with b) by
c)in d) on
(4 R (o TU [ be quiet at the library.
a) mustn't b) must
c) shouldn't d) can't
© We're sitting ......oveeeeeeeens on the rocks because they are very sharp!
a) carefully b) careful
c) more carefully d) most careful
(O The present ......cccouueveene. | bought for my grandmother is in my bag.
a) which b) who
c) when d) where
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@ Mathematics
C

hoose the correct answer:

0 If (3, 6) satisfies Y=kx, thenk = e
a) 18 b) 2
3 d) 9
9 The slope of the straight line which is parallel to Y-axis is -
a) 1 b) undefined
c)-1 d) zero
eThe mean of thevalues:2-a,4,1,5,3+a is e
a)5 b) 3
Q15 d)2a

0 The S.S. of the equation x> + 27 = 0 in R is {-e }

@ In AXYZ XY =XZ,m (£ X) =100° then m (£ Y) = o
a) 100° b) 45°
c) 80° d) 40°

0 The point of concurrence of medians of the triangle divides each median with

the ratio - S from the base.
a)2:1 b)1:2
2:3 di1:3

0 ABCisright at B, D is the midpoint of AC,BD = 10 cm, then AC = - cm
a)>5 b) 20
15 d) 25

a)3 b) 1

o0 d)2
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Choose the correct answer:

o The chemical properties of calcium (,,Ca) are similar to those of

K

‘19

c...Mn

25

9 All the following elements are metalloids except

a. tellurium
c. boron
a. Liquid sodium

c. Liquefied nitrogen

O The volume of hydrogen gas evolving from water electrolysis equals

oxygen gas volume.
a. that of
c. half
e Degree of ozone under STP condition is
a.100

c.300

size of its wings.
a. Panda bear

c. Bald eagle

b.

12

Mg

d.

3

Li
b. silicon

d. bromine

is used in food preservation.

b. Cobalt-60

d. Silicon

b. double

d. four times

Dobson units.

is from extinct birds which was characterized by its short legs and reduced

b. Ibis bird

d. Dodo bird
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Choose the correct answer from a, b, cor d:

) Ancient Egyptians used .......o......... for writing.
a) wood b) papyrus
c) cotton d) paper

@) Not many fish live in the river because it is very ........... .

a) pollution b) polluted
c) polluting d) pollute
© lusually ... my friends to have fun after | do my homework.
a) text b) test
c) make d) read
@) My father ... get up at six o'’clock every day to go to work.
a) has b) has to
c) have d) have to
© Hamdi .oceereee. walk to school. He cycles.
a) don't b) doesn't
c) hasn't d) isn't
(® My aunt Dalia is the person ........cc....... is always very kind to me.
a) when b) what
c) which d) who
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@ Mathematics
C

hoose the correct answer:

0 The S.S of the equation x>+ 9 =0 iNR is -
a)3 b) +3

QD d) -9

a)2 b) -2
1 -1

a)5 b) 5
)6 d)3
9 If (3, a) satisfies Y-2X=4,thena =
a) 6 b) =L
010 d)4
6 The number of medians of the right-angled triangle is -
a) 1 b) 2
)3 d) zero
6 Which of the following numbers represent possible sides lengths of a triangle?
a)5,7,12 b)4,6,11
10,3,7 d)14,9,7

0 The measure of each angle in the equilateral triangle equals -

a) 180 b) 120

c) 60 d) 30
6 The isosceles triangle has - axis of symmetry.

a)3 b) 2

Q1 d)o
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Choose the correct answer:

o The atomic number of the element that exists in group (7A) and period (2) is

a.12 b.7 c9 d.17

e During the chemical reaction, a non-metal atom tends to gain electrons and changes

iNtO ..o,
a. metal b. inert gas C. negative ion d. positive ion
€) Halogen moleculesare ... molecules.
a. monovalent b. divalent
C. trivalent d. tetravalent

O Arsenic increases the infection rate by ....................

a.liver cancer  b. brain cancer c. hepatitis d. typhoid
o .................... is/ are used in fire extinguishers.
a. Methyl bromide b. Halons
c. UV rays d. Nitrogen oxides
o .................... protectorate is the first established natural protectorate in Egypt.
a. Saint Cathrine b. Ras Mohamed
¢. Wadi Hetan d. Petrified forest
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Choose the correct answer from a, b, c or d:
@ d) odd

@) c) feed

@ b) known

@ c) must

@ b) doesn't

@ d)who
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@ Mathematics

MODEL ANSWER:
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Choose the correct answer from a, b, c or d:
@ d) stadium

@) a) arch

@ b) charity worker

@ a) have to

©din

@ d) mustn't
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@ Mathematics
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Choose the correct answer from a, b, c or d:
€ b) messy

@ d)up

© a) takes out

@ b) that

© b) well

@ d) where
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@ Mathematics

MODEL ANSWER:
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Choose the correct answer from a, b, c or d:
€ a) doing

@) <) necklaces

€ d) sign

@ b) recommends

© a) useto

@ ¢) should
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@ Mathematics

MODEL ANSWER:
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Choose the correct answer from a, b, c or d:
€ a) competitions

@ din

€ b) pass

@ d) known

© a) happily

@ a) was
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@ Mathematics

MODEL ANSWER:
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Choose the correct answer from a, b, c or d:
€ b) surgeon

@ b) mosque

@ o do

@ b) pots

© a) were

O b) put
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@ Mathematics

MODEL ANSWER:
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Choose the correct answer from a, b, c or d:
€ c) score

@) b) amazing

@ d)do

@ c) produced

© b) mustn't

@ a) never
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@ Mathematics

MODEL ANSWER:
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Choose the correct answer from a, b, c or d:
€ a) Random

@) a) infections

@ d) melting

@ b) than

© a) was walking

@ a) loudly
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Choose the correct answer from a, b, c or d:
@ c) make

@) b) attractive

@ a) with

@ b) must

© a) carefully

@ a) which
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@ Mathematics

MODEL ANSWER:
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Choose the correct answer from a, b, c or d:
€@ b) papyrus

@ b) polluted

€@ a) text

@ b) has to

@ b) doesn't

@ d)who
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